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Cyr yeyeBUYHBIH 35 50 12 20 35 2
Canar 13 6e10Ka4aHHOM KaITyCThI,
MOPKOBH C rOPOIIKOM 10 20 20 100
[ynisiin M3 TOBSIMHBI 12 6 6 4 1
Kauwa rpeyHas ¢ MacjioMm 8 61
Yait cnankui 15
Xnebh 80
uroro Ha 1 uen 8,0 2,0 13,0 5,0 47,0 50,0 61,0 28,0 46,0 4,0 35,0 1,0 15,0 80,0 2,0 3,0 20,0 100,0
MTOTO K BBLIA4e 1,92 2,0 31 1,2 11,3 12,0 14,6 6,7 11,0 1,0 84 24 3,6 34,3 2,00 3,00 7,40 24,10
LieHa 750,0 25,0 160,0 15,0 500,0 80,0 130,0 50,0 85,0 240,0 130,0 150,0 90,0 25,0 50,0 60,0 95,0 85,0
Ha CyMMY 48 50,0 499,2 18,0 5 640,0 960,0 1903,2 336,0 938,4 230,4 1092,0 360,0 324,0 857,1 100,0 180,0 704,5 20485
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